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F2BO 12,000(#E8 FBE2ELMHSHIR) 12,000 (A) = 1,200 (F9)x 10 (A)
ASE 2,000|A&% (FHAASENSHUN) 2,000 (M) = 1,000 (F9)x 2 (AN)
FREQ 162,000|F28 (FIRSENSHUR) 162,000 (M) = 3,600 (M)x 45 (AN)
fRBRAY 45,000 [##ERoMRIRNFIAE &R 45,000 (M) = 1,000 (F3)x 45 (AN)
FIARO 1,800,000 |FIA#} 1,800,000 (M) = 2,000 (E193) XFIAR7EXDICEKD
e 6,610,000(2MHMKD 6,610,000 (M)
FEITHUNA 30,0003 ME 30,000 (M) = ZXHRSSHIE 20,000, BH2SHE 10,000M
EESNE 300,000(FBEBESNE 300,000 (M)
=tk 156,942 |Bi4E A —1TELD 156,942 (M)
=L = 1,500,000|N P OsEAI— REFEELD| 1,500,000 (H) = 58%
ESUNE 50,000|&fd. B& 50,000 (M)
MEUXA 50,000|FI8. F#Hr. JUT. BEds 50,000 (M)
a &t 10,717,942
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RERRD () 630,190|{EEHRIRA 35 (56%7) 571,000 () = 587 (ALY
BFSERIR 108, 430. 720 59,190 (M) = 19,730 (M)x 3 (A)
BRI () 21,000 (RS> 5« ZRIR(EERR 57747) 21,000 (M) = 300 ()% 70 (A)
EREREE () 605,000 (=% )I-2 1804 52,000 (M) = 26,000 (F9)x 2 ([E)
=R =<5 108 13,000 (M) = 13,000 (F)x 1 (E)
=& 7~ 360 26,000 (M) = 13,000 (FH)x 2 ([E)
BIR ME b 430 13,000 (M) = 13,000 (F)x 1 (E)
MR 1774 720 13,000 (M) = 13,000 (FH)x 1 ([E)
4% 108, 430. 720 222,000 (H) = 74,000 (F9)x 3 (8)
{EIRM 246,000 () = 2022&EFEHSHE
ZILd=ILFTvhH— 20,000 (M) = HamDicHEWWEZX
B 12,500(%EH(5657) 12,500 (M) = 2,500 ()% 5 ([E)
FARAFRO() 23,100|BEERH(585) 0 (M XM DIz
ESf& 108. 430. 720 23,100 (M) = Z==%i 6,600M ZERENK 1,100M
ARARO 100,300| B REABE 100,300 (M) = FEAHE18,000M. EAFIE25,000M
mE#52,200M. EDfth5,100M
i IUTAVER, 300,000 &8RS > 7 VEBE 300,000 (M) XUIRACKDEEE
i ITAPERR 185,000 E#NS > 5 1 VREE 170,000 (M) XUNA (CKDEEIB
THEE () HEHEE 10,000 (M) = 5,000 ()% 2 ([E)
Rt AER ST 5,000 (M) 2,500 (F9)x 2 ([E)
EITE 50,000|% %= 50,000 (M) = ZXR=E 30,000M. RSEFH= 20,000™
Ey 10,000 |EDRIE - SHEESR 10,000 (M)
BEERE () 253,200 |#EFEERHEARZD) 96,000 (M) = 1,600 (F3)x 5 (B)x 12 (¥ A)
EESEFER 72,000 (M) = 6,000 (H)x 12 (#R)
EIERATIFN, BhXAE 85,200 (M) = 7,100 (F9)x 12 (¥ 8)
PARIE () 504,000(HY >4 504,000 (M) = 42,000 (F9)x 12 (#8)
B E TR RO () 300,000|BFEEI5K 300,000 (F9) = 5,000 (F9)x 5 (B)x 12 (#A)
BIEEIEXWR 100,000 | RS (IUA" U2, A9, FNI-WR E) 72,000 (M) = 6,000 (M)x 12 (#8)
D1 ILAREERI Y —=> 2 24,000 (M) = 8,000 (F3)x 3 (=)
fRALEEmEENET 4,000 (M) = 1,000 (F9)x 4 ([@)
EERAE - EAES 770,000 [HA{R - ERHMRIR - S5EHRIRA 770,000 (M) = #H=RER: 385 35EMRE : 70,000
7 -5-E2(m)|  6,523,652|E% - EE 6,523,652 (F3) = @£:986M/hx6,17280 3iEE:420Mx3%x313H - :420Mx 24 %528
EEn 240,000(&fEH 240,000 (M) 20,000 (M)x 12 (v 8)
MEBE 80,000 |FiIBL¥REN - SHEES 80,000 (M)
EBHRE 10,000|EFHE& 10,000 (M)
a8 i 10,717,942




